Question Paper Name:

Subject Name :
Creation Date :
Duration:
Total Marks :

Display Marks:

TS SET

ENVIRONMENTAL SCIENCES 6th July 2019
Shift2 Set1

ENVIRONMENTAL SCIENCES
2019-07-06 19:50:14

180

300

No

Teaching and Research Aptitude

Group Number :

Group Id :

Group Maximum Duration :

Group Minimum Duration:
Show Attended Group?:
Edit Attended Group?:
Break time:

Group Marks :

Is this Group for Examiner?:

Examiner permission :

Show Progress Bar?:

1
552131205
60

60

No

No

0

100

No

Cant View

No

Teaching and Research Aptitude

SectionId :

Section Number:

552131205

1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 42

Number of Questions to be attempted : 42

Section Marks : 100

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 5521311357
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 55213115580 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Main purpose of giving home work 1s that the students
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Options :

Remain busy at home.

s08 53 36° WP sorTRE
55213161201.

Study at home.

208 58 SO S0
55213161202.

Their progress can be enhanced.
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Develop the habit of self study:.

%Lhcri, ©LraHE eIt DosrohoSERE
55213161204.

Question Number : 2 Question Id : 55213115581 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

From the list given below 1dentify the leamer characteristics which would least facilitate teach-
mng-learning system to become effective.
808 & oD eFmreD JonoGod s (DB DirhHESE® ©8 8%
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Options :
Prior experience of learner

@“‘n"*’ 0N 118 S0
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1

Leamer's famuly lineage

OFPIHHR Henom FEIGT THE0
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Aptitude of the learner

PR Jfre TP
55213161207.

Learner's stage of development

OIFRRN R BY
55213161208.



Question Number : 3 Question Id : 55213115582 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

On the basts of summative tests, a teacher 1s mterpreting students, performance m terms of their
wellness life style evident m behaviour. This will be called:
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Options :

Contmuous and comprehensive evaluation

¥elel-IoR AT [ REvbbilapgel=thle

552131612009.

Normn - referenced testing

Daree el E:Lﬁ
55213161210.

Criterion - referenced testing

Ceﬁw BT - 0POHE 80N
55213161211.

Formative testing

Er=ses HEF
55213161212.

Question Number : 4 Question Id : 55213115583 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



A teacher shall inculcate social and moral values among students effectively by
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Options :

Delivering lectures on values

Lenew e,-.*""'ﬂ“wc' ““*r::‘io

55213161213.
Showing TV programmes
8. D. 5"’5“ ;w:':'ﬂﬂ Sevireletalale)
55213161214.
Involving students actively in co-curricular activities
Do J;ars; SEESrE rrideEnesh Iabto
55213161215.
Observing religious festivals
SDHNBEIR Dothrien xdhdio
55213161216.

Question Number : 5 Question Id : 55213115584 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Which of the following doesn't belong to key behaviour in effective teaching?

BoQAS® (HrrdHosiod S5 Sonofod &ire (HIEIH Josa.

Options :
55213161217.



Instructing students to copy from black board
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Instructional variety
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55213161218.

Questioning

DosStio
55213161219.

Using student ideas and contribution

Do &SI 0 IO DAEFNoSEo
55213161220.

Question Number : 6 Question Id : 55213115585 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following research types focuses on addressmg an immediate problematic situation”
& 8ol & $0 e 850 ) s‘iéa’a:ﬁs $ode D08 BB,
Options :
Applied Research

508 HoSBES
i

55213161221.

Action Reserach

55213161222.



Experimental Research

BRFrES B0TES
55213161223.

Fundamental Research

BES DI
55213161224.

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

2
5521311358

Yes

Question Number : 7 Question Id : 55213115586 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following doesn't affect research ethics?
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Options :

Faulty research design

S OB DD DO G Skes
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Choice of sampling techmique
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Reporting of research findings

HOSFE Do JTDoSto

Inaccurate application of statistical techniques
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Sub-Section Number : 3
Sub-Section Id : 5521311359
Question Shuffling Allowed : Yes

Question Number : 8 Question Id : 55213115587 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following, reporting format 1s formally prescribed?
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Options :

Doctoral Ievel thesis
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Master level thesis
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Post-graduate level dissertation
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All the above

e

55213161232, — =

Question Number : 9 Question Id : 55213115588 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following 1s an initial mandatory requirement to begin research?

DOFEID |FrBodosmRs SDTR0P S0othrr SFINRE 07

Options :

Developing a research design

HOSES S Srfrodiosto
55213161233.

Formulating a research question

05 G (HE Erdrofiodto
55213161234.

Deciding about the data analysis procedure

Szpod DFRee (BB Erdrotiostio
55213161235.

Formulating a research hypothesis

HOTER BoBY)He 0ot
55213161236.

Question Number : 10 Question Id : 55213115589 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following statements 15 true i the context of the testing of a hypothesis?
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Options :
Only the alternative hypothesis can be tested.
webRaS 205gKeh SrEh B§ouhay)
55213161237.
Only the null hypothesis can be tested.
e HOZORPORD SrED HEZ0SD5D)
o (=¥} Cov
55213161238.
Both. the alternative and the null hypotheses can be tested.
0l I83 Hodn S HoseFot BEFoWH
55213161239.
Both. the alternative and the null hypotheses cannot be tested.
so8IHS HOAL Py BoseFOD HEZ0SBIW.
55213161240. - &
Sub-Section Number : 4
Sub-Section Id : 5521311360
Question Shuffling Allowed : No

Question Id : 55213115590 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : Yes

Question Numbers : (11 to 15)

Question Label : Comprehension



This episode took place in August 1950. The Cold War was in its early stages. with the two
superpowers in eyeball-to-eyeball confrontation that threatened nuclear catastrophe. The People’s
Republic of China. which had just emerged from a bloody civil war and was seen at the time as the
Soviets’ closest ally. was prevented from taking its permanent seat in the UNSC because of
Aanerican opposition premised on Cold War logic. Furthermore. war was raging in the Korean
penminsula. with U.S. and allied troops locked 1n fierce combat with North Korean forces supported
by China and the Soviet Union.
Nehru was trying to carve a policy that ensured India’s security, strategic autonomy and state-led
industrialization in these very dangerous times. He was well aware of the tact that pushing China
out, as the U.S. wished to do. was a recipe for perpetual conflict that could engulfall of Asia. To
him. the Korean War appeared a forerunner to more such conflagrations in Asia that could even
turm nuclear. The U.S. had dropped nuclear boimbs on Japan only five years ago and many observers
believed it would not hesitate to do so again in an Asian conflict, especially since nuclear deterrence
had not yvet become a recognized reality. Nehiu did not want India to get embroiled in hazardous
Cold War conflicts and become a pawn in the superpowers’ great game risking its owmn security.
Nehru’s approach to China was dictated by real politic and not wishful thinking. He understood
that peace could not be assured in Asia without acconumnodating a potential great power like China
and providing it with its proper place in the intermational system. Moreover, China was India’s
next-door neighbour and it was essential for New Delhi to keep relations with China on an even
keel and not fall prey to the urgings of outside powers. the U.S. foremost aimong them. which were

following their own agendas that had nothing to do with Indian security interests.
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Sub questions

Question Number : 11 Question Id : 55213115591 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

According to the above passage. which one of the following lines is correct?
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Options :



Nehru tried to elude the Cold War clash to show his identity and become a pawn in the political
SUpIEMAcY gane.
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Nehrunever tried India to get mnvolved m treacherous Cold War fight because of fear of War.

ot gabo e I Apisr P68 $F 06° SR $0otd.
55213161242. .

Nehm's endeavor is to become closer with US as 1t 1s the superpower in the World and he did not
want to disturb the big counties in Cold War clash.
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Nehrunever desired India to get misky Cold War clash and become a puppet among the counties
who fight for a supremacy position.
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Question Number : 12 Question Id : 55213115592 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

The paragraph suggests that Jawaharlal Nahm was a
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Options :
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Smmer
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Great politician
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55213161246.

Cowardice

D08
55213161247.

Good policy maker
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55213161248.

Question Number : 13 Question Id : 55213115593 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

The Cold War was a period of geopolitical tension between

S8 T FIFeS Q58 oo

Options:
The Soviet Union with 1ts satellite states and London after World War IT

Botés (Do dnio &Tmd ©otid H0RE Oy AN CrdADR TR &R gk H0RS
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The People’s Republic of China with its satellite states and the United States after the First World War

55213161250.

55213161251.



The Soviet Union with its satellite states and the United States after World War IT
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The People’s Republic of Chma and Japan with other countries and Soviet Union after World War IT
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Question Number : 14 Question Id : 55213115594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

The United States detonated two nuclear weapons over the Japanese cities of Hiroshima and
Nagasaki n

20T Wl SIS e S0k e Both O ANCPORD Saehodod.
Options :
1943
55213161253.
1944
55213161254.
1945
55213161255.
1946
55213161256.

Question Number : 15 Question Id : 55213115595 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

Nehm favoured over India for permanent membership in the UN Security Council,
UN ¢ft5ee sootsDe? &8 g 80 Wduasnft\ TR0 TR o= ) NdBoTS.
Options :
11,8,
©DCse Sodns oelgpen
55213161257.
Chma
e
55213161258.
Soviet Union
DA CrddhR
55213161259.
Korea
Sgelevi
55213161260.
Sub-Section Number : 5
Sub-Section Id : 5521311361
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 55213115596 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Communication always takes place within

55008 ES Qgd)te 23%rHe0s

Options :

Two persons

G e DY
55213161261.

A context

2.5 ""‘DC:)Cf ocF
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External only

(IO SRS
55213161263.

Internal only

&:Dépér::rw?ﬂ
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Question Number : 17 Question Id : 55213115597 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Any effective classroom conumunication must be

SEHBHOE® & BDEHoSTS S ISR SO,
Options:

Syllabus centric
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Student centric

XrGoél Soorr

55213161266.
Classroom centric
=085 Solore
55213161267.
Culture centric
%o 8 Sogorr
55213161268.

Question Number : 18 Question Id : 55213115598 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of these is not mandatory for effective communication?

o
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Options

Understanding

oo ToSSKo
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Politeness

ST S
55213161270.

Listening

Do
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Ambiguty

Lofiis
55213161272. o

Question Number : 19 Question Id : 55213115599 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following is correct?

800 >&S° D& JBIL?

Options :
All gestures can have same meanings in same cultures.
Domen oy $od Wed’ ot ool DA Ssotrow.
55213161273. = e i 5
All the gestures can’t have different meanings in different cultures.
Sogen o Bo¥) Hed® &8 el 500 S0k,
55213161274. -
Some gestures can have different meanings mn different cultures.
Q) Kogen DY) Kok j@eod® Tt eped DN sotran.
= bl bt .
55213161275.
Some gestures can have same meanings in different cultures.
Q) Bogen HIF) oK) Hed® o oress SDN sotrow.
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Question Number : 20 Question Id : 55213115600 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following :
& B0l & 2858508 ¢

List-I List-II
=ee-1 =im-11
1. WhatsApp a. Mark Zuckerberg
el ess om0 5008
™ = ¢}
2. Google b. Sundar Pichai
rorred ool Doedh
3. Twitter ¢. Jan Koum
&re8 PN Ton
4. Facebook d. Jack Patrick Dorsey
o] =8 F@S &°6)
Codes:
6y
Options :
1-d. 2-b. 3-a. 4-c
55213161277.
1-a. 2-b. 3-d. 4-c
55213161278.
-c. 2-b. 3-d. 4-
55213161279, 1 270 3-d. 4-a
1.b. 2-a. 3-c. 4-d
55213161280.
Sub-Section Number : 6
Sub-Section Id : 5521311362
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 55213115601 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Two taps ‘A" and ‘B’ can fill a tank 1n 20 and 30 minutes respectively. There is an
outlet °C”, If all the 3 pipes are opened, the tank will be filled in 24 minutes. The
time taken for *C" alone to empty the full tank 15 ( m minutes)
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Options:

22
55213161281.

24
55213161282.

25
55213161283.

28
55213161284.

Question Number : 22 Question Id : 55213115602 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

Geetha will reach her office 15 minutes late by walking at 4 km per hour from her
house. The next day she increases her speed by 2 kmph and reaches in time. Then
the distance from her house to office 1s ( in km)
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Options :

3
55213161285.

4
55213161286.

D
55213161287.

6
55213161288.

Question Number : 23 Question Id : 55213115603 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

23. The price of 60 articles 15 Rs. 20 each. 20 articles were sold at Rs. 24 each. To get
an overall profit of Rs. 5 per article. the price of the remaining articles be sold is.
60 S0 O e 2883 e 20 . 20 SWHen (e 2883 Er. 24 THpd
B0, 198 2.8 &r. 5, €730 SPodERE DAOY SNHeN 2.538) TR
9020900 OO

Options :

55213161289.



24.5
55213161290.

255
55213161291.

28.5
55213161292.

Question Number : 24 Question Id : 55213115604 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The average weight of 40 ttems 15 15 gm. When the weight of the basket s added
to the weight of balls. the average increased by 0.5 gm. Then the weight (in gm) of
the basket 15

40 Qo)
SB0oDSH P DED 05 M DEHHR0E. @3y 28 Tod) 28 ([FsHeS)

Options:

15

55213161293.

55213161294.



55213161295.

40
55213161296.

Question Number : 25 Question Id : 55213115605 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Missing group of letters in the following sequence 1s

nt l"'E' ] (=) W, W -
808 15006 S oD @5 T HaXTT0

QYCD: PXEF, . NVI1I], MUKL
Options :
JPRI
55213161297.
QBBIJ
55213161298.
RRMY
55213161299.
OVGH
55213161300.

Question Number : 26 Question Id : 55213115606 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The following venn diagram represents the number of persons who know different

languages. Then the total number of persons is

800 30 D0, DG 27100 BOVS SO NOD2D APDN0D. @I P NS0

}
-

22500 00§

Options :

18425
55213161301.

18481
55213161302.

18721
55213161303.

18656
55213161304.

Question Number : 27 Question Id : 55213115607 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The missing number 1n the sequence: 36, 31, 29, 24, 22, 17. 15,
D50 SHodd Howe 36, 31,29, 24,22, 17, 15,

Options :

13
55213161305.

12
55213161306.

11
55213161307.

10
55213161308.

Question Number : 28 Question Id : 55213115608 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

If ‘P + Q" means ‘P 1s the father of Q", ‘P # Q" means ‘P 1s the brother of Q"; ‘P -Q°

means ‘P 15 the mother of Q”, then which of the following 15 true about Ax B-C+D
'P+Q' O P Q8 #od ;' PxQ @0 'P' Q) TE) AFODC; P-Q OST P Q’
B8 3O . Iy Ax B - C +D§ [Bod 85 A Ao

Options :

B is the son of A

B, A 3% §%%
552131613009.

A 15 the uncle of C
A, C O35 23723700 / add®end

b
iy

55213161310.



B is the father of A

B. A Gw¥) $old
55213161311.

C 1s the mother of B
C. B 3B, &6
55213161312.

Question Number : 29 Question Id : 55213115609 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Statements: The average number of persons per household 15 5 m urban areas
whereas 1t 1s 7 in rural areas. The national average s 6.

TS0 ([P Posed Hfiend 25208 7508, AT oz Hien 5
500 &) &. 2 e 6.

Conclusions; I The population per unit area in the rural areas 15 higher than in the
urban areas.
S0A0:L 98 [Foare $oT) [P (Foad 1 AHFNE 2T ST &0

II. The average number of persons per household in the rural areas is less
than the urban areas.
I [P Froeee fyTo Gng) Sede Miien do9; H8m Froee &)

b T A
@é‘u;;o.‘.ﬁ‘ @08

Options :

both I and IT are true

SNVleleV 2udd
55213161313. Lepooe oy

I 1s true and IT 1s false

I 2dp 06k O &5
55213161314. 7 Y



I 1s false and II 1s true

[y NOCID IT ey
55213161315.

both I and IT are false
Ivéoy é@a
55213161316.

Question Number : 30 Question Id : 55213115610 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

M 1s brother of N. O is the father of M. P 1s brother of Q, and Q 1s daughter of N. the
relation from M to Q 1s

M, N Q%) Fd%ch; 0, MO, Sod P, Q3% &Sk SnBCk Q N T3E),
502070, M D0G Q5 do20do

Options :
Mother
55213161317.
Father
08
55213161318. ey
Uncle
o L ) R B
55213161319.
Grandson
o) e ey Cad

55213161320.



Sub-Section Number : 7
Sub-Section Id : 5521311363

Question Shuffling Allowed : No

Question Id : 55213115611 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : Yes

Question Numbers : (31 to 35)

Question Label : Comprehension



Note: The questions Q. 31 to Q. 35 are based on the following information.

Ha: (349200 Q31 b0 Q.35 SO, 808 Narardo edormr &) Q.

The total Profit and Expenditure incurred (in lakhs) by a company during the financial
years 2013-19 1s presented in the following graph. Assume that in each financial year,
Income = Profit + Expenditure

2013-19 880% H038 TS 502d IS0 erzren HBAD Py (OFOS) &

506 BrdssnS 3052800, 198 808 H0s81808, S0 = erdo + 55000

ook,
a5 s Prfil === Expenditure
)
40 38 ! 37 P
30
30 35
25 28
27
20 o
‘ YO -ul
15 18 \12/ 19
10
5
0
201314 201415 201516 201617  2017-18  2018-19
Profit & Expenditure of a Firm

Sub questions

Question Number : 31 Question Id : 55213115612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes



Correct Marks : 2 Wrong Marks : 0

The total Income in the financial year 2016-17 (in lakhs) is
2016-17 e30¥ 0053506 JSBO 70RO (O F )

Options :

30
55213161321.

40
55213161322.

28
55213161323.

16
55213161324.

Question Number : 32 Question Id : 55213115613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

In the year 2014-15. the percentage of expenditure incurred over the mcome 1s
2014-15 Q0N TNE, &Tr000D I Yo ) TS0 __

Options :

28.75
55213161325.

36.25
55213161326.

28.64

55213161327.



38.46
55213161328.

Question Number : 33 Question Id : 55213115614 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

The percentage of profit increased m 2015-16 when compared with 2013-14 1s

2013-14 & FOV, 201516 ¢S erdio____ 7eh0 DOA0HO.
Options :
12.0
55213161329.
28.57
55213161330.
40.0
55213161331.
32.35
55213161332.

Question Number : 34 Question Id : 55213115615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0



In the six financial vears, total percentage of expenditure in the income 1s
; b — a o ¥
&3t @08 D00 TY | JNB0 BIIFON0R Bl )0 DA ) T°ed0

Options :

38.22
55213161333.

61.78
55213161334,

61.86
55213161335.

28.75
55213161336.

Question Number : 35 Question Id : 55213115616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

In 2017-18. the total profit (in lakhs) 1s

- - = = - ol
2017-1865 D[S0 ero (@ F )

Options :
20
55213161337.
55213161338,
19

55213161339.



18

55213161340.

Sub-Section Number : 8
Sub-Section Id : 5521311364
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 55213115617 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Who mvented the high level language “C™?

83 A O S0 d5H?
Options :

Denmis M. Ritchie
55213161341.

Niklaus Writh

Qe DG
55213161342.

Seymour Papert

arD 500
55213161343.

Donald Kunth

a‘mg %o
55213161344.



Question Number : 37 Question Id : 55213115618 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

‘Which of the following 1s a serial bus

i, = £ = B S gl al l.l—-:
8ol =EE° D& VO 2R

Options :
55213161345. L

ISA
55213161346.

USB
55213161347.

GPIB
55213161348.

Question Number : 38 Question Id : 55213115619 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

What does the acronym POP stand for?

PoP &=C &30
Options :

Post Ofticed Protocol
B gof

D sHRE |@fisd
55213161349. =

¥



Post Office Protocol

ai=d o, = £ s=B
PR VIR FED

55213161350.
Post Oftficial Protocol
BT odhdchd DP=S
55213161351. S
Postal Office Protocol
LS ehn @‘E'é.fﬂﬁ
2 .
55213161352.

Question Number : 39 Question Id : 55213115620 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

FTP stands for
FTP o

Options :

File transport protocol

S 58 (PeFsE
55213161353, = VTS S

File transfer protocol

1:"6-
a?ﬂ

6 (2555 DS S

55213161354.

File transit protocol

55213161355.



File tracking protocol

¢ tr30R @S
55213161356.

Question Number : 40 Question Id : 55213115621 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following 1s UGC mutiated network of university libraries

UGC Zntien ES 420700 (forre ACI8), &2 Bod =ES° 207

Options :

mnflibnet
55213161357.

infonet
55213161358.

ermet
55213161359.

mdonet
55213161360.
Sub-Section Number : 9
Sub-Section Id : 5521311365
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 55213115622 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

An annual event that is observed on July 11® of every year is

28 JodF %o 278 113 2B ED 08 o8 Babaw

Options :
World Environment Day
BD0S Hotte R0
55213161361.
World Forest Conservation Day
BDHoS e Sobger L
55213161362.
World Population Day
(BN amrgre LHdam
55213161363.
World Food Security Day
DD0S e35BY E5e DI
55213161364.

Question Number : 42 Question Id : 55213115623 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The largest wind farm of the world 1s

IV (BBOIYH mOIFID SoEiEm

Options :

Mancelona Wind Farm
SN mORPIDH Solism

55213161365.



Ganso Wind Farm

NS mOrrh SolEsan
55213161366.

King Mountain Wind Ranch

3oh STo8R md Tron
55213161367.

Jagur Creek Wind Farm

P8 (85 mOFrrH SolBsm
55213161368.

Question Number : 43 Question Id : 55213115624 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s chief pollutant of Bhadra river in Karnataka ?

Srs6°0 Ylorsh Senhiprdd (Hors seendy o880 & (Bod =8¢ da?
= o = ]
Options :

Indraprastha power station effluent

BOlGHD HH8 DETH0d DHGSeDr Sends B
55213161369. 9 = 2

DDT from pesticide industry

1830 RHosBEE HBOIBSD ~vod) tﬁ@:ﬁ:"-:; DDT
55213161370.

Paper and pulp from Paper Industry

NS HOFD Sood Doy RS0 0ok ey
55213161371.



Fly ash and jute from jute industry

2235 T8 HOES o8 JHGeTr N0 e, esddw
55213161372. =

Question Number : 44 Question Id : 55213115625 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Which of the following do not support soil erosion ?

=

& 8ol TRS° HB WSS FED S°)Kck?

[

Options :

Over grazing

©8MT o0
55213161373.

Shifting cultivation

oz SPBRRE D Dabéo
55213161374.

Forestation

©agen oD
55213161375.

Faulty cultivation practices

SPhzirong Ferd Dden

y g [

55213161376.

Question Number : 45 Question Id : 55213115626 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

Which is a baseless beliefregarding HIV transmission?

B0l =Q&° HIV {(EnDd egrdo ©
1 A

mo
1 Infected blood

06 P83 850
m.  HIV contaminated needles

HIV 3 Senhifo 308
iv. Mosquito

&

e

o
Options :

11
55213161377.

11 and 11
55213161378.
55213161379.
55213161380, 1AndV

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

b !
[

NRNSED &7

10
5521311366

Yes

Question Number : 46 Question Id : 55213115627 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Indira Gandhi National Open University (IGNOU) was established in the year

S0NTrPos eéas 88 & duredho (IGNOU) ~r20dy $od8)8o

Options :

November 1986

Haond - 1986
55213161381.

September 1985

'FJT';'&O::E - 1985
55213161382.

December 1987

&moob - 1987
55213161383.

December 1988

=momnG - 1988

55213161384.

Question Number : 47 Question Id : 55213115628 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following is Not a goal of hugher education in India?

el

8ol RS° EETE a8 Doy oo AR AQ?
Options :
Equuty
RerNgro

55213161385.



Relevance

TEWEO
55213161386. =
Compulsory and free education
o8 &8 Iy
55213161387.
Value based Education
Denaw ogrld A
55213161388.

Question Number : 48 Question Id : 55213115629 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Value Education stands for

DY et = endy VR i )
TR A VD mg{’ir\ﬁ__:'ﬁu;

L&)

Options :
Making students follow customs and traditions of the society
TFarEs ol Aroldrdireid aﬁm;rﬁrg@: ©000HHER D0
552131613809.
Enhancing student employability
Do TEHNS %ﬂéaq_:;aa 2osroliodtio
55213161390. '

Inculcating virtues and culture to students

“m’tfgz'aﬂu 00y [odnsHR Em;éga:éﬁ penlsto

55213161391.



Making students to understand religious values

a8 JOoDOGIN VLIS LTHE) VIMPPR DrEDED

geb ) SCI0E
55213161392.

FaL
L

Question Number : 49 Question Id : 55213115630 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The grounds on which discrimimation in admission to educational institutions constitutionally not
prohibited is

APRoRE (3508 KonoGod TremorIsIN ago 89 eodo,

o

Options

Religion

vz lo)
55213161393.

Sex

oo
55213161394,

Place of birth

55213161395. =

55213161396.



Question Number : 50 Question Id : 55213115631 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Sam Pitroda served as:

= ‘o -
-

] ~ = W T B
Thew Al @ SRS SRJRTH

Options :

UGC Chamrman

DL ITEAPY TPEPY V00 BTN
55213161397.

NKC Chairman

- >, "

& TBE D050 efirEen
55213161398, N

Director—NCTE

PED T T Dold ©FiHen
55213161399.

Chairman—NCERT

S Do 0T BZe B0 ofen
55213161400. 2

ENVIRONMENTAL SCIENCES

Group Number : 2
Group Id : 552131206
Group Maximum Duration : 120

Group Minimum Duration: 120



Show Attended Group?: No

Edit Attended Group?: No

Break time: 0

Group Marks : 200

Is this Group for Examiner?: No
Examiner permission : Cant View
Show Progress Bar?: No

ENVIRONMENTAL SCIENCES

SectionId : 552131206
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 96
Number of Questions to be attempted : 96

Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 5521311367
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 55213115632 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Name the largest solar power plant of Telangana state



Options :

55213161401, Jurala

55213161402, Ramagundam

55213161403, Dharmarao port

55213161404, Adilabad

Question Number : 52 Question Id : 55213115633 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following is correct for the sound frequency

Options :

55213161405, Distance travelled by sound wave per cycle

55213161406, Number of cycles completed by sound wave per second

55213161407, Distance travelled by sound wave per second

55213161408, Distance travelled by sound mn two second

Question Number : 53 Question Id : 55213115634 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



EIA is not usually required for a development project when
1. Large changes are expected in the environment
ii. No cumulative impacts are expected
iii. Many people’s are likely to be objected by the environment

Options :
55213161409, 1and ii are correct

55213161410. Only 11 1s correct

11 and 111 are correct
55213161411.

55213161412, 1and 111 are correct

Question Number : 54 Question Id : 55213115635 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

In September 1994 (UN conference) some 15.000 leaders and representatives from 179
nations and nearly 1.000 NGO’s met in Cairo. Egypt. and discussed the problem related to
1. Poverty and population
i1. Carbon and sulphur emissions
ill. Resource and capital management
iv. Social and cultural modernisation

The correct answer 1s
Options :

55213161413, 11 only

55213161414, 111 and iv only

55213161415, i1 and iv only



55213161416, 1only

Question Number : 55 Question Id : 55213115636 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Phytoremediation can be divided in to four processes, they are
List-I ListI
1. Phytoextraction a. The transformation of one species of molecules in to
a less toxic speces are the reduction of mobility

2, Phytodegradation b. The evaporation of pollutants 1n o the atmosphere
3. Phytovolatalisation ~ ¢. The removal of contaminants and metals from the
sotl and their storage in the plant

4, Phytostabilisation d. The uptake and degradation of organic compounds

Codas:

Options :

55213161417, L-P- 2-a. 3-d. 4-c

55213161418, 1-¢. 2-d. 3-b. 4-a

55213161419, 1-d- 2-¢. 3-a. 4-b

55213161420, 1-b. 2-c. 3-d. 4-a
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Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true?
. Neither species is affected by other species - Neutralism
i, One species benefits from the interaction and there 1s no effect on the other species - commensalism
i, One species 1s advantaged where as other is un effected- Amenalism

iv. Both species benefit from the interaction - Mutualism
V. One species benefits where as the other species 1s disadvantaged-Predition

Codes:
Options :

55213161421, 1- 1. 1L 1V

55213161422, 1 1L 1V, ¥

55213161423, M- 1V. ¥

55213161424, - - 1V- ¥
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Assertion (A): Biotechnology can have a major impact on the development and
implementation of sustanable technology and its influence will be manly

Reason(R): (1) Provision of bulk and fine chemicals. (i) Industrial processes and clean
technology. (i11) Energy supply (iv) Waste treatment and bioremediation (v)
Environmental monitoring (vi) Agriculture

Codes:

Options :

55213161425. Both (A) and (R) are true and (R) 1s correct explanation of (A)



55213161426, Both (A) and (R) are true and (R) 1s not correct explanation of (A)

55213161427, (A) 1s true. but (R) is false

55213161428, (A) s false, but (R) is true
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The sources and effects of inorganic contaminants

Contaminant Effects
I. Asbestos a. Increased blood cholesterol. decreased in blood sugar
2. Cadmium b. Increased risk of cancer
3. Antimony ¢. Nerve damage, thyroid problems
4. Cyanide d. Kidney damage
Codes:
Options :
-d 2-c. 3b. 4-
55213161429, 1-d: 2-¢. 3-b. 4-a

55213161430, 1-¢. 2-d. 3-a. 4-b

55213161431, 1-b. 2-a. 3-d. 4-c

55213161432, 1-b. 2-d. 3-a. 4-c

Question Number : 59 Question Id : 55213115640 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Examples of biomdicators

Organism Pollutant
1. Earthworms (Eisenia fetida) a. Heavy metfals
2. Dab (Limanda limanda) b. 2. 4. 6-trmitrotoluene(TNT)
3. Semaphore crab (Heloecius cordiformis) ¢. DDT
4. Lichens d.  Air pollution
Codes:
Options :
55213161433, 1°C: 270: 3-8, 4-

55213161434, 17d: 2-C, 3-b. 4-a

55213161435, 1-b. 2-¢. 3-a. 4-d

-a. d-¢

I'J_.

55213161436, 1-D. 2-d.
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Industrial sites and contaminants:

Industry Contaminants
1. Petrochemical a. Organic compounds. Chloro-phenols, Solvents
2. Energy b. Metals. Methane, micro-organisms
3. Water supply and sewage  ¢. Hydrocarbons, Phenols. acids. alkali
4. Chemical d.  Phenols. cyanides. sulphur compounds
Codes:
Options :

55213161437, 1-¢. 2-d. 3-b. 4-a

55213161438, 1-d. 2-a. 3-b. 4-c

55213161439, 1-d. 2-¢. 3-b. 4-a

55213161440, 1-b. 2-c.3-a, 4-d
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Assertion (A): Among the GHGs. Only CO; equivalants are considered to express the
atmospheric carbon quantities

Reason (R): The warming potential of CO; is the least among GHGs. and the quantities i
atmosphere are high

Codes:

Options :
55213161441. Both (A) and (R) are true and. (R) 1s the correct explanation of (A)

55213161442, Both (A) and (R) are true but (R) 1s not correct explanation of (A)



55213161443, (&) is true. but (R) 1s false

55213161444 (A) 1s false. but (R) 1s true
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List the following correct factors that can affect the growth of microorganisms:

i. Oxygen levels,
il. Temperature,
iii. pH.
iv. Pressures of water. Soil moisture,
V. Presence of heavy metals or salt.
vi. Humidity,
Vil. Pressure and
Vill. Viscosity

Codes:

Options :

55213161445, L ULIV.V

55213161446, i IV, V. Vi, Vil, Viii
55213161447, 1. V. V., V1. Vil, Viil

55213161448, - '2 = Vi VI
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Sustainable biodiversity development consists of three important but overlapping steps — save
it, know it, and use it — this was proposed by
.. Frankel et. al.. 1995

1. Duthie and Virchav, 1998
iil. Jansen and Gomet. 1997
iv. Margalef. 1990

o ——a

Options :

55213161449, 1 andiv

55213161450, 1andii
552131614571, 111 only

55213161452, 1 and v
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The trophic levels representing toxicity testing

Type Example
1. Primary Producers a. Pigeon. Quail
2. Primary consumers b. Zebra fish, rainbow trout
3. Tertiary Consumers ¢. Daphnia water fleas. Artemig salina

4. Quantenary consumers d. Chlorella vulgaris and Senendesmus quadricauda

Codes:



Options :
-a. 4-b

%]

55213161453, 1-¢. 2-d.

55213161454, 1-d. 2-c. 3-b. 4-a

55213161455, 1-D. 2-¢. 3-d. 4-a

55213161456, 1-D- 2-a. 3-d. 4-c
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Chemuicals obtained from fermentation

Chemical Micro organisms
1. Ethanol a. Aspergillus niger
2. Citric acid b. Lactobacillus sp.
3. Lactic acid ¢c. Saccaromvcs cerevisiae
4. Fumaric acid d. Rhizopus orvzae
Codes:
Options :

55213161457, 1-¢. 2-d. 3-b. 4-a

55213161458, 1-d. 2-c. 3-b. 4-a

55213161459, 1-¢. 2-a. 3-b. 4-d

55213161460, 1-b. 2-a. 3-d. 4-c
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The ‘dirty dozen’-persistant organic pollutants

(Pops): Aldrin, Chlordane, DDT. Dieldrin, Endrin, Heptachlor. Hexachloro benzene.
Mirex. Toxa phene. PCBs. Dioxins. Furans are particularly troublesome class of synthetic
organics 1s the

Options:
55213161461 Halogenated Hydrocarbons

55213161462, Chlorinated Hydrocarbons

55213161463, Mercuric Hydrocarbons

55213161464. Phosphate bound Hydrocarbons
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Name the top two high productivity wind power plants of India.
1. Brahmanvel wind Farm. Dhule.
i1. Muppandal wind Farm. KanyaKumari.
1i1. Damanjodi Wind Farm. Dhamanjodi.
1v. Jaisalmer Wind Farm, Jaisalmer.
v. Narmada Wind Farm. Anatapur.

Options:

55213161465, 11 and 1v are correct



55213161466, 11 and v are correct

55213161467, 1and 111 are correct

55213161468, 1V and v are correct
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Match the Followng,

List1 List- 11
. Detoxification, a. Is the breakdown of compound which 1s not as a carbon or energy source
2. Activation. b. Is the degradation of compound by an unrelated enzyme.
3. Co-Metabolism ¢. Where the compound 15 converted i to non-toxic metaboulites

without being mineralised.
4, Gratuitous metabolism ~ d. The Reverse, where non-noxic compounds are converted m toxic

compounds.
Codes:
Options :
L o BT T A
55213161469, ~d: 2-¢. 3-b. 4-a

55213161470, 1-¢. 2-d. 3-a. 4-b

. g 25 o g
55213161471, 170- 2-a. 3-d. 4-¢

N T Ay
55213161472, 170+ 27¢: 3-d. 4-a
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Which of the following is correct statement for the interception?.

Options :

55213161473, Sum of gross and net precipitation.

55213161474, Difference of gross and net precipitation

55213161475. Multiplication of gross and net precipitation.

55213161476. Division of EI0ss and net precipitation.
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What will be the resultant noise of four grinding machines emitting equal sound level of
50dB(A) in a flour mill?

Options:

55213161477. 100

55213161478, 20

55213161479, 23

55213161480, 22
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Which of the following are the serious threat to sacred grooves?
1. Rapid Urbanization.
1. Transformation of nature worship into formal temple worship.
iii. Invasion by exotic weeds.
iv.  Recharge of aquifers like pounds and streams.

Codes:
Note: For this question, discrepancy is found in
guestion/answer. Full Marks is being awarded to

all candidates.

Options :
55213161481, 1and iv are correct

55213161482, and iv are correct

1, 11 and 111 are correct
55213161484.
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Assertion (A): An environmental constraint is any factor that influences the fitness of the

organism in a habit.
Reason(R): The environmental constraints on plants come from their requirements for about

20 different essential resources from their susceptibility to herbivory. predation.
disease and from the benefits they may receive from mutualists such as
mycorrhizal fung or systematic mitrogen fixing bacteria

Options:

55213161485, Both (A) and (R) are true, and (R) 1s correct explanation of (A).

55213161486, Both (A) and (R) are true but (R) 1s not correct explanation of (A).

55213161487, (A) 1s true but (R) 1s false.

55213161488. (A) 1s false but (R) is true.
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Which of the following assumption is not correct for the Box Model?

Options:

55213161489 The pollutants emutted to the atmosphere are uniformly mixed in a volume of air.

55913161490. The time and physical dimensions of the box are based on the steady state condidtion.

The discharge of pollutants mix completely and instantaneously with the air available

55213161491, for dilution,

55213161492.



The pollutant emissions spread outwords from the source in an expanding plume to the
wind direction
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Savannahs are

Options :

55213161493, 11opical grasslands

55213161494, Boreal forest.

55213161495, Temperate grasslands.

55213161496, Ellinwoods.
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The Lincoln index representing population size is calculated by

Options :

55213161497, Estimating the area occupied by individuals

55213161498. Counting individual numbers.



55213161499 Estimating the ages of individuals

55213161500. Mark. release. recapture method.
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The speed of sound is slow in the ------------ medium

Options :

55213161501, Alr
55213161502, water
55213161503, Glass

55213161504, ron
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Find the correct sequence in the order of contributions to the atmospheric carbon.

I. Transport Sector

IT. Manufacturing Industry Sector

IMI. Electricity Power Sector

IV. Residential. Building & Commercial Sector
V. Other Sectors.



Options :

55213161505, 1 = I =IV=1=V
55213161506, 1L =11 =1=1IV =V
55213161507, LI = II=IV=>1=>V

55213161508, L= 1=11 =1V =V
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Which biome contains the greatest diversity of life?
1. Tropical Seasonal Forest
i1. Tropical Broad-Leaved woodland
iii. Temperate rain forest
iv. Tropical rain forest

Codes:
Options :
55213161509, 1, 11, 1il
55213161510, 1 11 1V

55213161511, 1only

55213161512, 1V only
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In plastic industry. which microbe has been successfully used to convert alkene into
alkene oxide ?

1. Methviococcus capsulatus

. Phanerochaete chrvsosporium

. Bascillus megaterium

V. Pseudomonas methvlotropicus

Codes:
Options :

55213161513, 1

55213161514, L 11

55213161515, 1. 11, 1ii

55213161516, 1> 11 1V
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Match the Following.

Parameter Instrument
1. Atmospheric Pressure a. Psychrometer
2. Wind Speed b. Barometer
3. Solar Radiation ¢. Anemometer
4. Hunudity d. Pyrheliometer

Codes:



Options :

e pee. Bad. A
55213161517, L0 2°¢: 3-d. 4-a

55213161518, 1-¢c. 2-d. 3-a. 4-b

55213161519, 1-a. 2-b. 3-c. 4-d

55213161520, 1-d- 2-a. 3-b. 4-c
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Why identification of irreversible impacts is an important issue in ETA?

Options :

55213161521, INof susceptible to mifigation measures
55213161522, Easily recovered by mitigation measures
55213161523, Recovery of such impacts fakes place in progress of fime

55213161524. These are short term impacts
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Which fungus 1s often used for bioremediation of hydrocarbon pollutants?
i.  Aspergillus niger
ii. Mucor arrhizus
ili. Phanerochaete chrysosporium
iv. Trichoderma viride

Codes:
Options :

55213161525,
55213161526, 1, 11, 11l
55213161527, 1ii

55213161528, 1, 1, 1V
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Which of the following plume behaviour occurs during super adiabatic lapse rate of the
atmosphere?

Options:

55213161529, Fanuing
55213161530, Lofting
55213161531, 11aPINZ

55213161532, LOOPIE
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On what basis Raunkiaer classified plant life forms?

Note: For this question, discrepancy is found in
qguestion/answer. Full Marks is being awarded to

all candidates.

Options :
55213161533, Posifion of perennating bodies

55213161534, Position of meristem tissue
55213161535, Posifion of seed

55213161536, Structure of the Biome
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Correctly sequence the following units of energy from lowest to highest.
[. Kilo watt — Hour

II. Joule
[II. Calorie
V. BTU

Options :



55213161537, 1V = HI <II<I
55213161538, WL < IV <1l <1
55213161539, I <=II<I<IV

55213161540, 1L <HI<IV <1
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Which of the following active pools of carbon is the largest on Earth and Contribute to
most of carbon cycling.
1. Atmosphere
ii. Ram Forest Vegetation
ii1. Recovarable Fossil fuels
iv. The ocean

Codes:
Options :

55213161541, 1- 11

55213161542, 1. 111
55213161543, 11 only

55213161544, 1V OBy
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What is true of a psendomorph among the following?

1. It results from the replacement of one mineral by another

i1. The replaced mineral forms a polymorph

iil. Only outer from is changed in a pseudomorph

iv. Internal atomic structure and outer form are drastically changed

Codes:
Options :
55213161545, 1- 11 and i1

55213161546, 11, 11l and iv
55213161547. 11and 1v

55213161548, 1 and iii
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Assertion (A): The primary minerals are necessarily the products of consolidation of
magmas under suitable conditions.
Reason (R): All mmerals constituting igneous rocks are of primary origin

Codes:
Options :
55213161549. (A) is true but (R) 1s false

55213161550. (A) 1s false but (A) is true



55213161551 Both (A) and (R) are true and (R) 1s the correct explanation of (A)

55913161552, Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Find the correct statements from the following

i. India stands 4® in Global Wind Power Production

ii. India stands 1% in Global Coal Production

iii. India stands 1 in consumption of Global Hydel Power
iv. India stands 7™ in the Global solar Power Production

Codes:
Options :
55213161553, 1 and 11 are correct
55213161554. 1 and 111 are correct

55213161555, 11 and 1v are correct

55213161556. i and iv are correct

Question Number : 90 Question Id : 55213115671 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



How plants overcome frequent fire catastrophes?
Options :
55213161557, v egetative Propagation

55213161558, Seed dormancy

55213161559, DeeP roofs

55213161560, Buds

Question Number : 91 Question Id : 55213115672 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following principle best reflects the intent of ETA?

Options :

55213161561, Reduce, reuse and recycle

55213161562, Polluter pays

55213161563, Prevention is better than cure

55213161564. Pollution control

Question Number : 92 Question Id : 55213115673 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Assertion (A): Energy brought into ecosystems is very high in tropics compared to
other regions.
Reason (R): Tropical regions receive greater rainfall and greater biodiversity

Codes:

Options :
55213161565, Both (A) and (R) are true and (R) is the correct explanation for (A)

55213161566, BOth (A) and (R) are true but (R) is not proper explanation to (A)

55213161567 (A) is true and (R) is false

55213161568. (A) 1s false and (R) 1s true

Question Number : 93 Question Id : 55213115674 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match the Following.

Category of Area Day time limits dB ( A)
I Industrial a: 50
2. Commercial b. 65
3. Residential & TS
4. Silent d. 55
Codes:
Options :
55213161569, 1-0- 2-2. 3-d. 4-¢

55213161570, 1-¢. 2-b. 3-d. 4-a

55213161571, 1-a. 2-¢. 3-b. 4-d



55213161572, 1-d. 2-b. 3-a. 4-c

Question Number : 94 Question Id : 55213115675 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The siliceous components of rock are dissolved in

Options :

55213161573, Alkaline solvents

55213161574, Dilute acids

55213161575, Strong acids

55213161576, Neutral solvents

Question Number : 95 Question Id : 55213115676 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): The small size particles are removed by Electrostatic Precipitators by
passing the gas between two electrodes
Reason (R): The high potential difference between the two electrodes i electro-static
precipitators creates an active glow zone which helps to charge the

particles which attracts by the low potential electrode
Codes:

Options :
55213161577, Both (A) and (R) are true and (R) is a correct explanation of (A)



55213161578, Both (A) and (R) are true but (R) 1s not a correct explanation of (A)

55213161579, (A0 18 false and (R) 1s true

55213161580. (A) 1is true but (R) is false

Question Number : 96 Question Id : 55213115677 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following are true with reference to weathering?
1. Mechanical and chemical decay
1. Weathering products are transported off from their place of origin
iii. Deposition of transported materials
iv. It involved no chemical decay

Codes:

Options :

55213161581, 1. 11, 1V

1, ii
55213161582.

11i, 1v
55213161583.

55213161584, 12 1= 11

Question Number : 97 Question Id : 55213115678 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Contribution of the solar power to the total power generation of Telangana State
accounts for

Options :

55213161585, 2> 0 30%

55213161586, 10 t0 15%

55213161587, 18 to 22%

55213161588, S0 0 35%

Question Number : 98 Question Id : 55213115679 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): In activated sludge process the microorganisms are living on the organic
material in the sewage
Reason (R): The micro-organisms consume oxygen and produced carbon-di-oxide with
their growth 1n the activated sludge process

Codes:

Options :

55213161589, BOoth (A) and (R) are true. but (R) is a correct explanation of (A)

55213161590, Both (A) and (R) are true. but (R) 1s not a correct explanation of (A)

55213161591, (A) 1s true and (R) 1s false



55213161592 (A) is false and (R) is true

Question Number : 99 Question Id : 55213115680 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

What tools are used to determine the effect of contaminants on the organisms in the
environment?

Options :

55213161593, Biomarkers

55213161594, Sampling Grids

55213161595, Blosensors

55213161596, Genetically modified organisms

Question Number : 100 Question Id : 55213115681 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following is not correct for the major project?

Options :

55213161597, High capital investment

55213161598, Covers large area



55213161599. Employs less number

55213161600, Significant environmental impacts.

Question Number : 101 Question Id : 55213115682 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Assertion (A): The colloidal clay in soil acts as a large anion and absorb cations.
Reason (R): The clay particles act as reservoir of exchangeable ions and release
them for plant nutrition.

Codes:
Options :
55213161601, BOth (A) and (R) are true. and (R) is the correct explanation of (A)

55213161602, Both (A) and (R) are true. but (R) 1s not a correct explanation of (A)

55213161603, (A) 1s true but (R) is false

55213161604. (A) 1s false and (R) is true

Question Number : 102 Question Id : 55213115683 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The global warming impact of 1 kg of methane over a period of 100 years. is equivalent
to x times to the warming impact of 1 kg of COy Find the value of ‘x’

Options:



55213161605, 250
55213161606, 25
55213161607, 22

55213161608, 2300

Question Number : 103 Question Id : 55213115684 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which organ of human ear converts the sound energy mto the electrical signal?

Options :

55213161609, Auditory Nerve

55213161610, Sensory hairs
55213161611, Tymphanic membrane

55213161612, Meleus. incus and stapes

Question Number : 104 Question Id : 55213115685 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The Karl-Pearson’s correlation coetficient between two independent random variables
13



Options :

55213161613. 0

55213161614, 1

55213161615, -1

55213161616, 0.5

Question Number : 105 Question Id : 55213115686 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the Following.

ETA Method Example
1. Network a. Asian Development Bank (1987)
2. Simple checklists b. Johnson and Bell (1975)
3. Simple matrix c. Leopoldetal. (1971)
4.  Stepped matrix d. Sorenson (1971)
Codes:
Options:
55213161617, 1~d: 2a. 3-c. 4-b

55213161618, 1-a. 2-c. 3-b. 4-d

55213161619. 1-c. 2-b. 3-d. 4-a

55213161620, 1-0- 2-d. 3-a. 4-c

Question Number : 106 Question Id : 55213115687 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

‘Green peace’ is an independent global campaigning organisation that acts to charge
attitudes and behaviours to protect and conserve the environment and promote peace 1s
situated in

Options :
55213161621, London. UK

55213161622, Amsterdem. Netherland

55213161623, New York. USA

55213161624, Perth. Australia

Question Number : 107 Question Id : 55213115688 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): Increasing complexity in the biodiversity results in greater stability of the
ecosystems,
Reason (R): Ecosystems with large and dominant populations shall provide high
stability to the system.

Codes:
Options :
55213161625, Both (A) and (R) are true and (R) is correct explanation of (A)

55213161626, BOt (A) and (R) are true. but (R) is not proper explanation for (A)

55213161627, (A3) 18 true, but (R) is false



55213161628, (A4 1s false. but (R) is true

Question Number : 108 Question Id : 55213115689 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true with the climate change phenomenon?
1. Increased Temperatures with decreased precipitations
1.  Sea level rise and melting of polar ice caps
iil. Increase in ozone depletion
iv. Variable Rainfall

Codes:
Options :

55213161629. Only 1 1s correct
55213161630. 1 and 11 are correct

55213161631, 1 and 1vare correct

55213161632, 1l and 1iv are correct

Question Number : 109 Question Id : 55213115690 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



59. Match the Following.

Element of ETA
1. Screening
2. Scoping
3. Baseline studies
4. Environmental Management Plan
Codes:
Options :

55213161633, L-@- 2-d. 3-b. 4-c

55213161634, -0 2-¢. 3-d. 4-a

55213161635, 1-0- 2-a. 3-c. 4-d

-a. 4-b

L]

55213161636, 1-d- 2-c.

Question Number : 110 Question Id : 55213115691 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The normal human conversation occurs 1n the range of sound frequencies between

Options:
55213161637, 10 to 10.000 Hz

55213161638, 100 to 1000 Hz

55213161639, -0 to 5000 Hz

55213161640, - U to 2000 Hz

Expression
Mitigation measures & monitoring
plan
Narrowing scope of EIA for projects
having sigmficant impacts
Detimng boundries of EIA
Present and future status of
environment



Question Number : 111 Question Id : 55213115692 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The set binding targets for industrialised nations to reduce emissions by 5% against
1990 levels over a period of 2008 — 2012 was proposed in

Options :
55213161641. RiCr de JElIlEil‘O. Bl‘EZiI. 1992

55213161642, Stockholm. Sweden. 1972
55213161643, Copenhagen. Denmark. 2009

55213161644, Kyoto Protocal. Japan. 1997

Question Number : 112 Question Id : 55213115693 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Identify the stage during which time “Public Consultation™ 1s conducted for the projects
that require Environmental clearance in India.

1. Before EIA is initiated

i.. At the time of Scoping

iil. Before EMP is prepared

iv. At the time of final Appraisal

Codes:

Options :
55213161645, Only 11 1s correct



55213161646. only 1v 1s correct

55213161647, 1 and 11 are correct

55213161648. 111 and iv are correct

Question Number : 113 Question Id : 55213115694 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match the Following.

Chemical/ Substance Nature
1.  Lead salts a. Corrosive
2. Trimethyl aluminium b. Toxic
3. Sulphuric acid c. Ignitable
4. White Phosphorous d. Reactive
Codes:
Options:
. 2-b. 3-d. 4-
55213161649, 1= 2, 3-d, 4-2

55213161650, 1-a. 2-¢. 3-b. 4-d

55213161651, 1-d. 2-a. 3-c. 4-b

55213161652, 1-b. 2-d. 3-a. 4-¢

Question Number : 114 Question Id : 55213115695 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

If annual growth rings are helpful in estimating the age of trees. what structures can be
used to determine the age of animals?

Options:

55213161653, Annual growth rings 1n teeth and otoliths of mammals

55213161654, Length and longevity of nails

55213161655, Cills of Fish

55213161656, Bone density

Question Number : 115 Question Id : 55213115696 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the Following.
Method Process

1. Sourcereduction  a. Dumping waste below surface of the earth
2. Recycling b. Waste minimization
3. Incineration c¢. Conversion of waste i usable items
4. Santtoryland fill  d. Burning of waste
Codes:
Options :

55213161657, 1-b. 2-¢. 3-d. 4-a

55213161658, 1-¢. 2-d. 3-a. 4-b

55213161659, 1-3- 2-D. 3-c. 4-d



55213161660, 1-d- 2-a. 3-b. 4-c

Question Number : 116 Question Id : 55213115697 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match the Following.

Environmental Laws Year
3 Forest Conservation Act a. 2000
2. Motor Vehicle Act b. 2016
3.  The Plastic Management Rules c. 1980
4.  Noise Pollution d. 1988

(Regulation & Control) Rules
Codes:
Options :

55213161661, 1-a. 2-¢. 3-d. 4-b

55213161662, 170> 272 3-¢. 4-d

= A o 28 L
55213161663, L~¢+ 2°d: 3-D. 4-a

55213161664, 1-d. 2-b. 3-a. 4-c

Question Number : 117 Question Id : 55213115698 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

How global warming affects the El Nino years?

Options :



55213161665, El Nino yvears may be more frequent

55213161666. El Nino does not occur

55213161667. El Nino years are rare

55213161668. El Nino years and effect reduced

Question Number : 118 Question Id : 55213115699 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Bioremediation refers to -

Options :

55213161669, Actions that stabilize a landscape and mcrease economic value of site
55213161670, Management that deflect succession of a site from one land use to other
55213161671, Lhe use of plants and microbes to reduce the site toxicity

55213161672, Actions that seek to repair damaged ecosystem

Question Number : 119 Question Id : 55213115700 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match the Following.

Contaminant Example
1 Solvent a. Lindane
2.  Petrochemical b. Carbontetra chloride
3. Explosive ¢. Poly aromatic hydrocarbons
4.  Pesticide d. Trinitrotoluene
Codes:
Options :

55213161673, 1-d. 2-a. 3-b. 4-c

-
.

55213161674, 1-a. 2-b. 3-c. 4-d
55213161675, 1-¢. 2-d. 3-b. 4-a

55213161676, 1-b- 2-c. 3-d. 4-a

Question Number : 120 Question Id : 55213115701 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

If the correction Co-efficient between two variables X and Yis + 1

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :
55213161677, Both variables have perfect and positive correction

55213161678, Both variables have perfect and negative correction



55213161679, 1 WO regression lines are either parallel or perpendicular

55213161680. Two regression lines coincide

Question Number : 121 Question Id : 55213115702 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the Following.

List I List IT
Environmental Important Days
1. World Earth Day a. 22" May
2. World Water Day b. 16™ September
3. World Wetlands Day c. 2" February
4. World Ozone Day d. 22% April
5. World Biological Diversity Day e. 22% March
Codes:
Options :
55213161681, 1-d- 2-€. 3-c. 4-b. 5-a

55213161682, 1-€. 2-a. 3-b. 4-c. 5-d

55213161683, 1-d. 2-a. 3-e. 4-b. 5-c

55213161684. l-c. E-b. 3*-(1. 4-e, 5-a

Question Number : 122 Question Id : 55213115703 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

The abiotic environment depends on
1.  Rock and Soil types
11. Climate and Weather
111. Climate and Pathogens
1v. Catastrophes
Codes:
Options :

55213161685, | and 111 are correct

55213161686, 1» 11 and 1v are correct

55213161687, 11- 11, 1V are correct

55213161688, 1» 111, IV are correct

Question Number : 123 Question Id : 55213115704 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

How many rings are observed in the structure of Benzo [a] Pyrene?
Options :

55213161689, 3

n

55213161690.

55213161691, O

-3

55213161692.



Question Number : 124 Question Id : 55213115705 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): The aerobic degradation of organic substances s a quite short. and no
substantial leachate generated during this phase.
Reason (R): The fust phase of anaerobic degradation is acid fermentation. which causes
a decrease in pH. high conc. of voltile acids of leachate.
Codes:
Options :
55213161693, Both (A) and (R) are true and (R) 1s correct explanation of (A)

55213161694, Both (A) and (R) are true and (R) 1s not correct explanation of (A)

55213161695, (A) 1s true but (R) 1s false

55213161696, () is false but (R) is true

Question Number : 125 Question Id : 55213115706 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the Following.

Contaminant Effect
1. Cadmium a. Blue baby syndrome
2. Fluoride b. Nerve damage
3. Nitrate ¢. Kidney damage
4. Cyanide d. Bone disease
Codes:
Options :

55213161697, 1-d- 2-¢. 3-b. 4-a



55213161698, L-¢- 2-d. 3-a. 4-b

55213161699, 1-b- 2-a. 3-¢c. 4-d

55213161700, 13 2-b. 3-d. 4-c

Question Number : 126 Question Id : 55213115707 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Assertion (A): Variations in the mixing height of the air environment of a locality shall
have inverse relationship with the concentrations of air pollutants.
Reason (R): Air pollutants will disperse fast with decreased mixing heights,

Codes:
Options :
55213161701, Both (A) and (R) are true and (R) is the correct explanation of (A)

55213161702, Both (A) and (R) are true. but (R) is not correct explanation for (A)

55213161703, (A) 1s true, but (R) 1s false.

55213161704. (A) 1s false. but (R) is true.

Question Number : 127 Question Id : 55213115708 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Which of the following factors are influencing on the leachate quality generated in

landfills?
1. Waste composition
il. Water balance of the waste
ii1. Age of landfills
iv. Size of landfills

Codes:

Options :
55213161705, ©Only 11s correct

55213161706. Only 1 and 11 are correct

55213161707 Only 1, 11 and 111 are correct

55213161708.

Question Number : 128 Question Id : 55213115709 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): The clean-up of contaminated sites has been earned out using physical
and chemical methods such as immobilization, removal. thermal. and

solvent treatments.
Reason (R): Bioremediation is a cheaper than the chemical and physical option and can
s 1 = § C C ati I L 5 [ 1Vt 'T. C -
deal with lower concentration of contaminants more effectively. although

the process may take longer.
Codes:

Options :
55213161709, Both (A) and (R) are true and (R) 1s correct explanation of (A)

55213161710. Both (A) and (R) are true but (R) is not a correct explanation for (A)



55213161711, (A) 1s true but (R) 1s false

55213161712 (A) is false but (R) is true

Question Number : 129 Question Id : 55213115710 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

If two dice are tossed the probability of sum of two faces 1s equal to 9 1s

Options:

I3
&

55213161713. </

55213161714, 4/9

55213161715, /36

55213161716, 4/36

Question Number : 130 Question Id : 55213115711 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The 1sothermal lapse rate is represented by -

Options :

55213161717, ncrease in temperature with height

55213161718, Lecrease in temperature with height



55213161719, No change m temperature with height

0 . . : st
55213161720 1 C temperature change per 100 meter of height

Question Number : 131 Question Id : 55213115712 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which global hot spot accommodate the height human population density?

Options :

55213161721, Western Ghats

55213161722. Sundaland hotspot

55213161723, Himalaya

55213161724, Atlantaic Forest

Question Number : 132 Question Id : 55213115713 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The first Notification on the Environmental impact Assessment under Environmental
(Protection) Act was 1ssued in the year

Options:

55213161725, 1986



55213161726, 1994

55213161727, 2006

55213161728. 2008

Question Number : 133 Question Id : 55213115714 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

In a population of exponential growth type. if the population annual growth 1s 0.02.
Assuming that the growth rate continues to be the same in how many years the
population will become twice and thrice to the mitial population.

Options :
55213161729, 1wice (42.3) and Thrice (67.2)

55213161730. Twice (281) and Thrice '[:i-f!:?‘r\!

55213161731, I wice (34.6) and Thrice (54.9)

55213161732, 1wice (17.5) and Thrice (28.5)

Question Number : 134 Question Id : 55213115715 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match the Following.

List -1 List — IT
Name of the estimation method Air Quality Parameter
1. Improved West & Gaeke Method  a. NO2
2. TEOM b. SO
3. Gas Phase Chemiluminescence & PMig
4. NDIR d. cO
Codes:
Options:

55213161733, 1-¢- 2-b. 3-d. 4-a

55213161734, 1-b. 2-¢. 3-a. 4-d
55213161735, 1-a. 2-¢. 3-b. 4-d

55213161736, 1-D. 2-d. 3-c. 4-a

Question Number : 135 Question Id : 55213115716 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Identify the correct statements which are true to the application of Leslie’s Matrix
model
i.  Population of discrete age classes
1. Prediction of population growth and size
1. Assessment of Natality and Morality
iv.  Population of Homogenic type

Codes:
Options :
55213161737, 1 and ii are correct

55213161738. 11 and 111 are correct



55213161739. 111 and 1v are correct

55213161740. 1 and 111 are correct

Question Number : 136 Question Id : 55213115717 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Find the plant adaptations associated with the species of true mangroves
L. Omithophily

1. Vivipary

1. Pneumetophores

V. Anaemophily

Codes:
Options :

1 only 1s correct
55213161741.

55213161742, | and iii are correct
55213161743, 11 and 1v are correct

55213161744, 11 and iii are correct

Question Number : 137 Question Id : 55213115718 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



In a population of 426. the individuals tested positive for respiratory diseases were 97
and of this 6 individuals were positive for silicosis. If a single person 1s randomly
picked from the population. what 1s the chance of that person being a positive for
silicosis.
Options :

55213161745, 0.23

55213161746, 0.16

55213161747, 0.06

55213161748, 0-01

Question Number : 138 Question Id : 55213115719 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following are true regarding Deposits of coal in India?
i. Belongs to Gondwana
ii. Formed due to Sedimentation
iii. Formed due to Sublimation process
iv. Belong to tertiary age
Codes:

Options :

55213161749, 1. 1

55213161750, 1. 11. 111

55213161751, 1» 11,1V

55213161752, 11 1L, 1V



Question Number : 139 Question Id : 55213115720 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Find the Mean and Median values for the following set of data.
232,3.15.:2.76; 294 311

Options:
55213161753, Mean (2.76) and Median (2.82)

55213161754, Mean (2.82) and Median (2.76)

55213161755, Mean (2.79) and Median (3.41)

55213161756, Mean (2.82) and Median (2.79)

Question Number : 140 Question Id : 55213115721 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The model relation between yield of a crop and soil. fertilizer, seeds and water is
expressed as

Options :

55213161757, Correlation model

55213161758, Regression model

552131617509, Analysis of variance



55213161760, t-test

Question Number : 141 Question Id : 55213115722 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following statement or statements are true in case of Gausian Plume
Model

1. The Wind speed and direction are constant in both time and elevation

ii. The pollutant is conservative and degrade over time

iil. The emission rate from the source is constant

iv. The estimations are two dimensional only

Codes:

Options :

55213161761, OTLY 1115 correct
55213161762, and 111 are correct

55213161763, 11 and 1v are correct

55213161764. 1,11 and 1v are correct

Question Number : 142 Question Id : 55213115723 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Find the correct targets identified by the Green Indian Mission under the Climate
Change Action Plan

i. Increase the forest cover to 1/3 of the land area

il. Increase forest cover on 5 mha of forest/non-forest lands

1ii. Promote agroforesty in 2 mha by 2020

iv. Enhance annual CO2 sequensation by 50-60 million tons by 2020

Increase protected areas by 1.5 tumes.

Codes:

Options :
55213161765, 11 and iv are correct

55213161766, 1 and 1ii are correct

55213161767, 11 and v are correct

1, 111 and v are correct
55213161768.

Question Number : 143 Question Id : 55213115724 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Name the District of Telangana State which has maximum forest area
Options:

55213161769, Adilabad

55213161770. Nizamabad

55213161771, WY arangal

55213161772, hammam



Question Number : 144 Question Id : 55213115725 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Pyramid of energy
Options :
55213161773, Can never be inverted

55213161774. Can be inverted rarely

55213161775, May be often inverted

55213161776, “lways be mverted

Question Number : 145 Question Id : 55213115726 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

At early stages of development. a country 1s characterised by high forest cover and low
deforestation rates 1s known as

Options :
55213161777, Detorestation theory

55213161778, Forest exploitation theory

55213161779. Forest transition theory



55213161780, Forest utilization theory

Sub-Section Number : 2
Sub-Section Id : 5521311368
Question Shuffling Allowed : No

Question Id : 55213115727 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : Yes

Question Numbers : (146 to 150)

Question Label : Comprehension



As we destroy biological diversity. what else are we doing to the environment, what 1s being
changed, and how will those changes affect us? One part of the answers fo these questions is
provided by Lawton and Brown's consideration of redundancy. Part of what the environment
does for us involves ‘ecosystem services’ — the movement of energy and nutrients through the air.
water and land. and through the food chains. Just how much biological diversity we need to keep
the movement at approximately natural levels 1s question of critical importance. Nonetheless. it 1s
not a question that 1s commonly asked. A major synthesis of theortes on the dynamics of nutrient
cycling devotes little space to the consequences of changes in the numbers of species per trophic
level: it 1s the number of trophic levels that receives the attention. One might well concluded that.
over broad limits, ecosystem services will continue to be provided, so long as there are some
plants. some animals. some decomposers and so on. Lawton and Brown conclude that numerous

species are redundant.

The conclusion only deals with the average movement of material; ecologist have long recognised
that diversity may be important in determining the variability and persistence of ecological
processes and their resistance to external change. Following the laws of diversity. one often hears
ideas such as: the loss threatens ecological ntegrity; the environment becomes more fragile as
diversity decreases: ecosystem have some capacity to resist change or to recover from i, that is.

there 1s some balance of nature of stability and this balance 1s affected by the loss of diversity.

Sub questions

Question Number : 146 Question Id : 55213115728 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

The movement of energy and nutrients through the air, water, land and through the few
chains 1s known as

Options :
55213161781, Ecosystem marks



55213161782. ECDS}-":STEIH services

55213161783, Ecosystem perturbations

55213161784, Ecosystem dynamics

Question Number : 147 Question Id : 55213115729 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

Lawton and Brown conclude that numerous species are

Options :

55213161785, Redundant

55213161786, Lependent

55213161787, Isolated

55213161788, Discrete

Question Number : 148 Question Id : 55213115730 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

Diversity 1s important in determining the variability and persistence of ecological
processes and their resistance to



Options :
55213161789, ternal change

55213161790, External change

55213161791, No change at all

55213161792, Modifications.

Question Number : 149 Question Id : 55213115731 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0
The ecological balance 1s affected by
Options :

55213161793, Lhe gain of biodiversity

55213161794, Lhe loss of biodiversity

55213161795, Stability in biodiversity

55213161796. No change in biodiversity

Question Number : 150 Question Id : 55213115732 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes



Correct Marks : 2 Wrong Marks : 0

The environment become more ‘fragile’ as diversity
Options :

55213161797, Increases

55213161798. Decreases

55213161799, No change at all

55213161800, Oscillates



